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QUESTION 1

When building your implementation plan, providing dual power for all systems is critical.
Which three actions should be mandated? (Choose three.)

A. Dual power supplies should be placed in all equipment.

B. Dual power feeds should be run to all equipment.

C. Power feeds should be connected to the closest available outlet inside the cabinet.

D. Power feeds should be connected to separate circuits on the same data center PDU.

E. Power feeds should be connected to separate outlets connected to two separate PDUs.

Correct Answer: ABE

QUESTION 2

Which two commands would help you troubleshoot a LUN that cannot be accessed by a host? (Choose two.)
A. fcp show wwpn

B. fcp wwpn

C. igroup show

D. lun show -err

E. lun show -v

Correct Answer: CE

QUESTION 3

After issuing the aggr split aggrO/plex0 aggrNew command

A. there is a new plex called aggrNew

B. there are two new plexes, plex0 and plexNew

C. there is a new mirrored aggregate called aggrNew

D. there are two unmirrored aggregates, aggrO and aggrNew

E. flexible volumes are evenly split between aggrO and aggrNew

Correct Answer: D
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QUESTION 4

Click the Exhibit button.

FC Swdch FZ Swdth

Based on the diagram shown, what is the appropriate FC switch topology?
A. core-edge

B. full mesh

C. partial mesh

D. partial cascade

Correct Answer: C

QUESTION 5

Which objects can be restored by a single SnapRestore command? (Choose three)
A. file

B. LUN

C. gtree

D. volume

E. directory

Correct Answer: ABD

QUESTION 6

In a volume SnapMirror relationship, the source and destination volumes must be the same size.
A. True

B. False

Correct Answer: B
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QUESTION 7

What is the maximum distance between a standard clustered pair at 2Gbps?
A. 10 meters

B. 50 meters

C. 100 meters

D. 500 meters

Correct Answer: D

QUESTION 8

To operate Data ONTAP 8.1 Cluster-Mode SAN, what must be configured on both the initiator and target?
A. Logical Unit Access Initialization

B. Physical Unit Access Initialization

C. Symmetric Logical Unit Access

D. Asymmetric Logical Unit Access

E. SAN Access Initialization Protocol

Correct Answer: D

QUESTION 9

Which is a supported management switch?
A. Brocade 8000

B. Brocade FLS624

C. Cisco Nexus 5010

D. Cisco Nexus 7000

E. Cisco Catalyst 2960

F. Cisco Nexus 5020

Correct Answer: E

QUESTION 10

Which statement best describes the output of this command? sysstat -s 5

NS0-504 VCE Dumps | NS0-504 Practice Test | NS0-504 Braindumps

4/6


https://www.leads4pass.com/ns0-504.html
https://www.leads4pass.com/ns0-504.html
https://www.leads4pass.com/ns0-504.html

https://lwww.leads4pass.com/ns0-504.html
2024 Latest leads4pass NS0-504 PDF and VCE dumps Download

A. Display the default output every five seconds and terminate after five counts.

B. Display extended output every five seconds and print a summary after five counts.
C. Display extended output every five seconds and print a summary upon termination.
D. Display the default output every five seconds and print a summary upon termination.

Correct Answer: D

QUESTION 11

What is the maximum number of nodes in a cluster that the Cisco Nexus 5010 supports?
A 12

B. 18

C.20

D.24

Correct Answer: B

QUESTION 12

Which two SMB versions does Data ONTAP Cluster-Mode support? (Choose two.)
A.SMB 1.0

B. SMB 2.0

C.SMB 3.0

D. SMB 4.0

Correct Answer: AB

QUESTION 13
Which statement describes the results of the SnapMirror resynce command?

A. Resynchronization finds the newest common snapshot shared by the two volumes or gtree, and removes all newer
information on the storage system on which the command is run.

B. Resynchronization will cause the loss of all data written to the destination after the original base snapshot was made.
C. Resynchronization will update the snapshot on the destination filer.

D. Resynchronization will update the snapshot on the source filer.
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Correct Answer: A

QUESTION 14

Which three licenses are required for fabric-attached MetroCluster? (Choose three.)
A. Cluster

B. Cluster_remote

C. Syncmirror_local

D. Syncmirror_fabric

E. Syncmirror_remote

Correct Answer. ABC

QUESTION 15

Which two are true when creating a SyncMirror volume? (Choose two.)

A. The disks selected for Plex 0 and Plex 1 must come from the same disk shelf.

B. The disks selected for Plex 0 and Plex 1 must come from the same disk pools.

C. The number of disks added must be an even number and equally divided between the two plexes.

D. The disks are selected first on the basis of equivalent bytes per sector (bps) size, then on the basis of the size of the
disk. If there is no equivalent-sized disk, Data ONTAP takes a larger capacity disk and right-sizes it.

Correct Answer: CD
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